Find this quotient. Give remainder in any form.

Find this quotient. Give remainder in any form.
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if all the terms cancel when subtracting you need to "bring down" the same
number of terms as there is in the divisor _ﬁﬁ

Find this quotient. Give remainder in any form. What must be true for a number to be a factor of another number?

There must be NO remainder when they are divided.
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No, x+4 is not a factor because the remainder isn't zero.
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Find real solutions by graphing.
x3=Tx*+25x-39=0

The solution found by graphing is x=3. This solution(x-int) came from
the following factor: (x-3)
Use this information to find ALL Complex solutions by dividing to find
another factor.
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The other factor is:
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The three solutions are x =3, 2+3i

7 and 9 are factors of 2457. The other two factors
are prime numbers. Find these other two factors.
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Divide 2457 by one of the factors (2457+7 = 351). This quotient is then
divided by the other factor (351+9)=39. This quotient is then factored further
(39 = 3x13). Therefore, the four factors described are: 7, 9, 3, and 13



